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FIL—TA & ED ARA REHEER BEI=
BERE 1/7 13:30 K.O 1/2110:20 K.0 2/310:20 K.O 1/13 9:30 KO
&ED REHEERG 1/1311:10 KO | 1/27 11:10 K.O 2/3 9:30 K.O
ERA FEBES#G XEH—G 1/714:20 K.O 1/27 12:00 K.O

RISHEFER BEIEG ZH—G AEHBFEG 1/21 9:30 K.O
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g1L—7B R EHm S REHF— FE =4
R Em 1/1312:00 KO | 1/2010:20 KO | 1/27 9:30 K.O
ES XH—G 1/2710:20 KO | 1/209:30 K.O
REF— XEHMEG ZTH—G 1/1310:20 K.O
3] ZH—G SEEHIG EH—G _

JIL—JC BEXME & [FB [EZE EE JE 15z

BHEANE 1/1311:10 KO | 1/21 11:10 KO | 1/28 9:50 K.O
& FB Pa{EBEG 1/28 9:00 KO | 1/2112:00 K.O
EZE FIERAERG RBAMEG 1/1312:00 K.0
PRI HiBEKMEG PMEFE=KG MR{EBRG _
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5 )IL—7D = PHIEBRRIA # &RIC JIE {52
heE 1/1310:20 KO | 1/2011:10 KO | 1/28 11:30 K.O
PO iR % PO EBRG 1/28 10:40 KO | 1/20 12:00 K.O

¥ REHMEG FEKXMEG 1/13 9:30 K.O
& [FC RiBEXIMEG ZEHMUG TH{EBRG _
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2/11(B) 9:30K.0
=15 MEAER

2/11(8) 11:10K.0

=5 MEAESKR

2/11(8) 12:00K.0

=5 FEAEK

2/11(H) 10:20K.0

2/17(%x) 9:30K.0

25 MAER

=15 FEAER

2/17(%) 10:20K.0

2/24(%) 10:00K.0
=5 KKl
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